Math 109      Quiz 7      10/24/06
1.   Solve the inequality  x2 - 2x -24 ( 0.   

                -4 ( x ( 6
2.   Solve the inequality   (x-4)(x+1)(x+5) > 0.

             x>4  or  -5 < x < -1
3.   Does the following rule define a function?  Explain.
        x      1     2     3     1     4              
       ------------------------------         
        y      5     1     6     5     1    
        Yes.  There only one value of y for each value of x.          

4.   State the domain for the following function.
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             x>-3   except for x=2
                                        that is    -3<x<2  or x>2
5.   Suppose g(x) = x2 - 5x.  Find the following:

        a.  g(2)            -6
        b.  g(n-2)        n2-9n+14
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